

Volume 16, Issue 4

Published online: August 20, 2020

Journal of Progressive Research in Mathematics

www.scitecresearch.com/journals

Certain Subclasses Of Harmonic Starlike Functions Associated With q-Analouge Of Ruscheweyh Operator

S. R. Swamy^{1,*} and P. K. Mamatha²

Abstract.

In this work, we introduce and study a subclass of harmonic uniformly β - starlike functions defined by q-analogue of Ruscheweyh derivative operator. Coefficient bounds, extreme points, distortion bounds, convolution conditions and convex combination are determined for functions in this class. Also, properties of the class preserving under the generalized Bernardi-Libera –Livingston integral operator and the q-Jackson integral operator are discussed. Furthermore, many of our results are either extensions or new approaches to those corresponding to previously known results.

1. Introduction

A continuous function f = u + iv is a complex- valued harmonic function in a complex domain Ω if both u and v are real and harmonic in Ω . In any simply-connected domain $D \subset \Omega$, we can write $f = h + \overline{g}$, where h and g are analytic in D. We call h the analytic part and g the co-analytic part of f. A necessary and sufficient condition for f to be locally univalent and orientation preserving in D is that |h'(z)| > |g'(z)| in D (see [8]).

Denote by $\mathcal{S}_{\mathscr{H}}$ the family of functions $f = h + \overline{g}$ which are harmonic, univalent and orientation preserving in the open unit disc

$$\mathbb{U} := \{ z \in \mathbb{C} : |z| < 1 \}$$

so that f is normalized by $f(0) = h(0) = f_z(0) - 1 = 0$. Thus, for $f = h + \overline{g} \in \mathcal{S}_{\mathscr{H}}$, the functions h and g analytic in \mathbb{U} can be expressed in the following forms:

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k, \ g(z) = \sum_{k=1}^{\infty} b_k z^k \ (|b_1| < 1), \tag{1.1}$$

and f(z) is then given by

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k + \sum_{k=1}^{\infty} b_k z^k \quad (|b_1| < 1).$$
 (1.2)

We note that the family $S_{\mathscr{H}}$ of orientation preserving, normalized harmonic univalent functions reduces to the well known class S of normalized univalent functions if the co-analytic part of f is identically zero $(g \equiv 0)$.

Also, we denote by $\mathcal{S}_{\mathscr{H}}$ the subfamily of $\mathcal{S}_{\mathscr{H}}$ consisting of harmonic functions of the form $f = h + \overline{g}$ such that h and g are of the form:

$$h(z) = z - \sum_{k=2}^{\infty} |a_k| z^k, \quad g(z) = \sum_{k=1}^{\infty} |b_k| z^k.$$
 (1.3)

In [8] Clunie and Sheil-Small, investigated the class $\mathcal{S}_{\mathscr{H}}$ as well as its geometric subclasses and its properties. Since then, there have been several studies related to the class $\mathcal{S}_{\mathscr{H}}$ and its subclasses. Following Clunie and Sheil-Small [8], Ahuja [1, 2, 3], Al-Kharsani and Al-Khal [6], Dixit et al. [9, 10, 11], Frasin [13], Frasin et al. [14], Jahangiri [17, 18, 19], Jahangiri et al. [20], Porwal et al. [24], Silverman [27], Silverman and Silvia [28], Yalçin et al. [29] and others [4, 5, 12, 20, 21, 22, 23, 25] and the references therein have investigated various subclasses of $\mathcal{S}_{\mathscr{H}}$ and its properties.

²⁰¹⁰ Mathematics Subject Classification. Primary 30C45; Secondary 30C50.

Key words and phrases. Harmonic function, analytic function, univalent function, starlike domain, convex domain, convolution.

^{*} Corresponding Author: S. R. Swamy (mailtoswamy@rediffmail.com).

In 2001, Rosy et al. [25], defined a subclass $\mathscr{G}_{\mathscr{H}}(\gamma) \subset \mathscr{S}_{\mathscr{H}}$ consisting of harmonic univalent functions f(z) satisfying the following condition

$$Re\left\{ (1 + e^{i\alpha}) \frac{zf'(z)}{f(z)} - e^{i\alpha} \right\} \ge \gamma, \ \ 0 \le \gamma < 1, \ \ \alpha \in \mathbb{R},$$
 (1.4)

were $z' = \frac{\partial}{\partial \theta}(z = re^{i\theta})$, $f'(z) = \frac{\partial}{\partial \theta}(f(z) = f(re^{i\theta}))$, $0 \le r < 1$ and θ is real. They proved that if $f = h + \bar{g}$ given by (1.2) and if

$$\sum_{k=2}^{\infty} \frac{2k-1-\gamma}{1-\gamma} |a_k| + \sum_{k=1}^{\infty} \frac{2k+1+\gamma}{1-\gamma} |b_k| \le 1, \quad 0 \le \gamma < 1, \tag{1.5}$$

then f is a Goodman-Ronning type harmonic univalent function in \mathbb{U} . This condition is proved to be also necessary if h and g are of the form (1.3).

Let \mathscr{A} denote the class of functions that are analytic in the open unit disc \mathbb{U} . For 0 < q < 1, Jackson [15] defined the q-derivative of a function $h \in \mathscr{A}$ is defined as follows:

$$\partial_q h(z) = \frac{h(z) - h(qz)}{z - qz}, \qquad z \neq 0, \qquad z \in \mathbb{U}$$

and $\partial_q h(0) = h'(0)$ and $\partial_q^2 h(z) := \partial_q (\partial_q h(z))$. Obviously,

$$\partial_q \left(\sum_{k=1}^{\infty} a_k z^k \right) = \sum_{k=1}^{\infty} [k]_q a_k z^{k-1}, \qquad k \in \mathbb{N}, \ z \in \mathbb{U},$$

where $[k]_q$ is defined by

$$[k]_q = \begin{cases} \frac{1-q^k}{1-q} & \text{if } k \in \mathbb{N} \\ 0 & \text{if } k = 0. \end{cases}$$
 (1.6)

As $q \to 1$ and $k \in \mathbb{N}$, $[k]_q \to k$. In particular $h(z) = z^k$ for k, the q-derivative of h(z) is given by

$$\partial_q \left(z^k \right) = \frac{z^k - (qz)^k}{(1-q)z} = [k]_q z^{k-1}, \qquad z \in \mathbb{U},$$

and

$$\lim_{q \to 1} \partial_q (h(z)) = \lim_{q \to 1} \partial_q (z^k) = kz^{k-1} = f'(z), \qquad k \in \mathbb{N}, \qquad z \in \mathbb{U}.$$

Moreover, it is worth mentioning that

$$[k]_q ! = \left\{ \begin{array}{ll} [1]_q [2]_q \, \cdots \, [k-1]_q [k]_q & \text{if } k \in \mathbb{N} \\ 1 & \text{if } k = 0. \end{array} \right.$$

Recently, in [5], Aldweby and Darus defined the q- analogue of Ruscheweyh operator $\mathscr{R}_q^{\lambda}:\mathscr{A}\longrightarrow\mathscr{A}$ for functions of the form h given in (1.1) as

$$\mathscr{R}_{q}^{\lambda}h(z) = z + \sum_{k=2}^{\infty} \frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}! [k-1]_{q}!} a_{k} z^{k}.$$

Further, we observe that

$$\lim_{q \to 1} \mathscr{R}_{q}^{\lambda} h(z) = z + \lim_{q \to 1} \left[\sum_{k=2}^{\infty} \frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}! [k-1]_{q}!} a_{k} z^{k} \right]$$
$$= z + \sum_{k=2}^{\infty} \frac{[k+\lambda-1]!}{[\lambda]! [k-1]!} a_{k} z^{k}$$
$$= \mathscr{R}^{\lambda} h(z),$$

where \mathcal{R}^{λ} is Russcheweyh differential operator [26].

In 2019, Elhaddad et al.[12] defined the operator $\mathscr{R}_q^{\lambda}:\mathscr{S}_{\mathscr{H}}\longrightarrow\mathscr{S}_{\mathscr{H}}$ for functions of the form $f = h + \bar{g}$ given by (1.2) as

$$\mathscr{R}_{a}^{\lambda}f(z) = \mathscr{R}_{a}^{\lambda}h(z) + \overline{\mathscr{R}_{a}^{\lambda}g(z)}, \qquad z \in \mathbb{U},$$
 (1.7)

where

$$\mathscr{R}_{q}^{\lambda}h(z) = z + \sum_{k=2}^{\infty} \frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}! [k-1]_{q}!} a_{k} z^{k} \quad \text{and} \quad \mathscr{R}_{q}^{\lambda}g(z) = \sum_{k=1}^{\infty} \frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}! [k-1]_{q}!} b_{k} z^{k}. \quad (1.8)$$

Motivated by the works of Ahuja et al. [4], Elhaddad et al. [12], Frasin and Magesh [14], Jahangiri et al. [20], Magesh and Porwal [21], Magesh et al. [22] and Rosy et al. [25], we consider the subclass $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ of functions of the form (1.2) satisfying the condition

$$\Re\left\{ (1 + \beta e^{i\alpha}) \, \frac{z \, \partial_q \left(\mathscr{R}_q^{\lambda} h(z) \right) - \overline{z \, \partial_q \left(\mathscr{R}_q^{\lambda} g(z) \right)}}{\mathscr{R}_q^{\mu} h_t(z) + \overline{\mathscr{R}_q^{\mu} g_t(z)}} - \beta e^{i\alpha} \right\} > \gamma, \qquad z \in \mathbb{U}, \tag{1.9}$$

where $\lambda, \ \mu \in \mathbb{N}_0, \ \beta \geq 0, \ 0 \leq \gamma < 1, \ \alpha \in \mathbb{R}, \ h_t(z) = (1-t)z + th(z), \ g_t(z) = tg(z), \ 0 \leq t \leq 1.$ We further let $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ denote the subclass of $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ consisting of functions $f = h + \overline{g} \in \mathcal{S}_{\mathscr{H}}$ such that h and g are of the form (1.3).

We note that by specializing the parameters λ , μ , β , γ , t and q, we obtain well-known harmonic univalent functions as well as many new ones. For example,

- Elhaddad et al. [12]. (1) $\mathscr{G}_{\mathscr{H}}(\lambda, \lambda, q; 0, \gamma, 1) := \mathscr{S}^*_{\mathscr{H}}(\lambda, q; \gamma)$
- (2) (a) $\mathscr{G}_{\mathscr{H}}(0, 0, 1; 0, \gamma, 1) := \mathscr{S}^*_{\mathscr{H}}(\gamma)$ Jahangiri [18].

 - (b) $\mathscr{G}_{\mathscr{H}}(1,1,1;0,\gamma,1) = K_{\mathscr{H}}(\gamma)$ Jahangiri [18]. (c) For $\gamma = 0$ the classes $S_{\mathscr{H}}^*(\gamma)$ and $K(\gamma)$ were studied by Silverman and Silvia [28].
 - (d) For $\gamma = 0$ and $b_1 = 0$ see [7, 27].
- (3) $\mathscr{G}_{\mathscr{H}}(\lambda, \lambda, 1; 0, \gamma, 1) := \mathscr{S}_{\mathscr{H}}^*(\lambda, \gamma)$ [23].
- (4) $\mathscr{G}_{\mathscr{H}}(0, 0, 1; 1, \gamma, 1) := G_{\mathscr{H}}(\gamma)$ Rosy et al. [25].
- (5) $\mathscr{G}_{\mathscr{H}}(0, 0, 1; \beta, \gamma, 1) := G_{\mathscr{H}}(\beta, \gamma, t)$ Ahuja et al.[3].
- (6) $\mathscr{G}_{\mathscr{H}}(1, 1, 1; 1, \gamma, 1) = \mathscr{H}\mathcal{C}(\gamma)$ Kim et al. [16]
- $(7) \mathcal{G}_{\mathcal{H}}(0, 0, 1; 0, \gamma, 0) := \mathcal{P}_{\mathcal{H}}(\gamma)$ Yalçin et al. [29].

In this paper, we give a sufficient condition for $f = h + \bar{g}$ given by (1.2) to be in $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ and it is shown that this condition is also necessary for functions in $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$. We also obtain extreme points, distortion bounds, convolution and convex combination properties. Further, we obtain the closure property of this class under integral operators. We remark that the results so obtained for these general families can be viewed as extensions and generalizations for various subclasses of $\mathcal{S}_{\mathscr{H}}$ as listed previously in this section.

2. Coefficient Bounds

Our first theorem gives a sufficient condition for functions in $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$.

Theorem 2.1. Let $f = h + \bar{g}$ be so that h and g are given by (1.1). If

$$\sum_{k=2}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!} \right) \ [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right]}{(1-\gamma)} |a_k| \\ + \sum_{k=1}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!} \right) \ [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right]}{(1-\gamma)} |b_k| \le 1,$$

$$(2.1)$$

where λ , $\mu \in \mathbb{N}_0$, $\beta \geq 0$, $0 \leq \gamma < 1$, $0 \leq t \leq 1$ and 0 < q < 1. Then $f \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$.

Proof. To prove that $f \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$, we only need to show that if (2.1) holds, then the required condition (1.9) is satisfied. For (1.9), we can write

$$\Re\left\{(1+\beta e^{i\alpha})\,\frac{z\,\partial_q\left(\mathscr{R}^\lambda_q h(z)\right)-\overline{z\,\partial_q\left(\mathscr{R}^\lambda_q g(z)\right)}}{\mathscr{R}^\mu_q h_t(z)+\overline{\mathscr{R}^\mu_q g_t(z)}}-\beta e^{i\alpha}\right\}=\Re\left\{\frac{A(z)}{B(z)}\right\}>\gamma.$$

Using the fact that $\Re\{\omega\} \ge \gamma$ if and only if $|1-\gamma+\omega| \ge |1+\gamma-\omega|$, it suffices to show that

$$|A(z) + (1 - \gamma)B(z)| - |A(z) - (1 + \gamma)B(z)| \ge 0,$$
(2.2)

where

$$A(z) = (1 + \beta e^{i\alpha}) \left[z \, \partial_q \left(\mathscr{R}^\lambda_q h(z) \right) - \overline{z \, \partial_q \left(\mathscr{R}^\lambda_q g(z) \right)} \right] - \beta e^{i\alpha} \left[\mathscr{R}^\mu_q h_t(z) + \overline{\mathscr{R}^\mu_q g_t(z)} \right]$$

and

$$B(z) = \mathcal{R}_q^{\mu} h_t(z) + \overline{\mathcal{R}_q^{\mu} g_t(z)}.$$

Also,

$$z\partial_q\left(\mathscr{R}_q^\lambda h(z)\right) = z + \sum_{k=2}^\infty [k]_q \frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!} a_k z^k \quad \text{and} \quad z\partial_q\left(\mathscr{R}_q^\lambda g(z)\right) = \sum_{k=1}^\infty [k]_q \frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!} b_k z^k$$

and

$$\mathscr{R}_{q}^{\mu}h_{t}(z) = z + \sum_{k=2}^{\infty} t \frac{[k+\mu-1]_{q}!}{[\mu]_{q}!} \frac{1}{[k-1]_{q}!} a_{k} z^{k} \quad \text{and} \quad \mathscr{R}_{q}^{\mu}g_{t}(z) = \sum_{k=1}^{\infty} t \frac{[k+\mu-1]_{q}!}{[\mu]_{q}!} \frac{1}{[k-1]_{q}!} b_{k} z^{k}.$$

$$(2.3)$$

Substituting for A(z) and B(z) in (2.2) and making use of (2.1), we obtain

$$\begin{split} |A(z) + (1-\gamma)B(z)| &- |A(z) - (1+\gamma)B(z)| \\ &= \left| (1+\beta e^{i\alpha}) \left[z \, \partial_q \left(\mathscr{R}^{\lambda}_q h(z) \right) - \overline{z} \, \partial_q \left(\mathscr{R}^{\lambda}_q g(z) \right) \right] - \beta e^{i\alpha} \left[\mathscr{R}^{\mu}_q h_t(z) + \overline{\mathscr{R}^{\mu}_q} g_t(z) \right] \\ &+ (1-\gamma) \left(\mathscr{R}^{\mu}_q h_t(z) + \overline{\mathscr{R}^{\mu}_q} g_t(z) \right) \right| \\ &- \left| (1+\beta e^{i\alpha}) \left[z \, \partial_q \left(\mathscr{R}^{\lambda}_q h(z) \right) - \overline{z} \, \partial_q \left(\mathscr{R}^{\lambda}_q g(z) \right) \right] - \beta e^{i\alpha} \left[\mathscr{R}^{\mu}_q h_t(z) + \overline{\mathscr{R}^{\mu}_q} g_t(z) \right] \\ &- (1+\gamma) \left(\mathscr{R}^{\mu}_q h_t(z) + \overline{\mathscr{R}^{\mu}_q} g_t(z) \right) \right| \\ &\geq 2(1-\gamma)|z| - \sum_{k=2}^{\infty} 2 \left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \left[k-1 \right]_q!} \right) \left[k \right]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right] |a_k||z|^k \\ &- \sum_{k=1}^{\infty} 2 \left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \left[k-1 \right]_q!} \right) \left[k \right]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right] |b_k||z|^k \\ &\geq 2(1-\gamma)|z| \left\{ 1 - \sum_{k=2}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \left[k-1 \right]_q!} \right) \left[k \right]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right] |a_k||z|^{k-1}}{1-\gamma} \right. \\ &- \sum_{k=1}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \left[k-1 \right]_q!} \right) \left[k \right]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right] |b_k||z|^{k-1}}{1-\gamma} \right\} \\ &\geq 2(1-\gamma) \left\{ 1 - \sum_{k=2}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \left[k-1 \right]_q!} \right) \left[k \right]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right] |a_k|}{1-\gamma} \right\} \right. \\ &\geq 2(1-\gamma) \left\{ 1 - \sum_{k=2}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \left[k-1 \right]_q!} \right) \left[k \right]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right] |a_k|}{1-\gamma} \right\} \\ &\geq 2(1-\gamma) \left\{ 1 - \sum_{k=2}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \left[k-1 \right]_q!} \right) \left[k \right]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right] |a_k|}{1-\gamma} \right\}$$

$$-\sum_{k=1}^{\infty} \frac{\left[(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!} \right) \ [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \right]}{1-\gamma} |b_k|$$

 ≥ 0

which implies that $f \in \mathcal{G}_{\mathcal{H}}(\lambda, \mu, q; \beta, \gamma, t)$.

The coefficient bound (2.1) is sharp for the harmonic function

$$\begin{split} f(z) &= z + \sum_{k=2}^{\infty} \frac{1 - \gamma}{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)} x_k z^k \\ &+ \sum_{k=1}^{\infty} \frac{1 - \gamma}{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)} \overline{y_k z^k}, \end{split}$$

where $\sum_{k=2}^{\infty} |x_k| + \sum_{k=1}^{\infty} |y_k| = 1$, shows that the coefficient bound given by (2.1) is sharp.

Next, we show that the above sufficient condition is also necessary for functions in the class $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$.

Theorem 2.2. Let $f = h + \bar{g}$ be so that h and g are given by (1.3). Then $f \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$ if and only if

$$\sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_k| + \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |b_k| \le 1,$$

where λ , $\mu \in \mathbb{N}_0$, $\beta \geq 0$, $0 \leq \gamma < 1$, $0 \leq t \leq 1$ and 0 < q < 1.

Proof. Since $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t) \subset \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$, we only need to prove the only if part of the theorem. To this end, for functions f of the form (1.3), we notice that the condition (1.9) is equivalent to

$$\Re\left\{\frac{(1+\beta e^{i\alpha})\left[z\ \partial_q\left(\mathscr{R}_q^{\lambda}h(z)\right)-\overline{z\ \partial_q\left(\mathscr{R}_q^{\lambda}g(z)\right)}\right]-\beta e^{i\alpha}\left[\mathscr{R}_q^{\mu}h_t(z)+\overline{\mathscr{R}_q^{\mu}g_t(z)}\right]}{\mathscr{R}_q^{\mu}h_t(z)+\overline{\mathscr{R}_q^{\mu}g_t(z)}}-\gamma\right\}\geq 0.$$

Upon choosing the values of z on the positive real axis where $0 \le |z| = r < 1$, the above inequality reduces to

$$\Re\left\{ \frac{\left(\begin{array}{c} (1-\gamma) - \sum\limits_{k=2}^{\infty} \left[\left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q - \gamma t \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right) \] |a_k| r^{k-1}}{-\sum\limits_{k=1}^{\infty} \left[\left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q + \gamma t \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right) \] |b_k| r^{k-1}} \right]}{1 - \sum\limits_{k=2}^{\infty} t \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right) |a_k| r^{k-1} + \sum\limits_{k=1}^{\infty} t \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right) |b_k| r^{k-1}} \right\}$$

$$-\Re\left\{\beta e^{i\alpha} \frac{\left(\sum\limits_{k=2}^{\infty} \left[\left(\frac{[k+\lambda-1]_q!}{[\lambda]_q!\,[k-1]_q!}\right)[k]_q - t\left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)\right] |a_k| r^{k-1}}{1 - \sum\limits_{k=2}^{\infty} t\left(\frac{[k+\lambda-1]_q!}{[\lambda]_q!\,[k-1]_q!}\right) |a_k| r^{k-1} + \sum\limits_{k=1}^{\infty} t\left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right) |b_k| r^{k-1}}\right\} \ge 0.$$

Since $Re(-e^{i\alpha}) \ge -|e^{i\alpha}| = -1$, the above inequality reduces to

$$\frac{\left((1-\gamma)-\sum_{k=2}^{\infty}\left[(1+\beta)\left(\frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}!\,[k-1]_{q}!}\right)[k]_{q}-t(\beta+\gamma)\left(\frac{[k+\mu-1]_{q}!}{[\mu]_{q}!}\right)\right]|a_{k}|r^{k-1}}{-\sum_{k=1}^{\infty}\left[(1+\beta)\left(\frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}!\,[k-1]_{q}!}\right)[k]_{q}+t(\beta+\gamma)\left(\frac{[k+\mu-1]_{q}!}{[\mu]_{q}!}\right)\right]|b_{k}|r^{k-1}}}{1-\sum_{k=2}^{\infty}t\left(\frac{[k+\mu-1]_{q}!}{[\mu]_{q}!}\right)|a_{k}|r^{k-1}+\sum_{k=1}^{\infty}t\left(\frac{[k+\mu-1]_{q}!}{[\mu]_{q}!}\right)|b_{k}|r^{k-1}} \ge 0.$$
(2.4)

If the condition (2.4) does not hold then the numerator in (2.4) is negative for r sufficiently close to 1. Thus there exists $z_0 = r_0$ in (0,1) for which the quotient in (2.4) is negative. This contradicts the condition for $f \in \mathscr{G}_{\overline{\mathscr{M}}}(\lambda, \mu, q; \beta, \gamma, t)$. Hence the proof is complete.

3. Extreme points and Distortion bounds

In this section, our first theorem gives the extreme points of the closed convex hulls of $\mathscr{G}_{\overline{\mathscr{H}}}(\lambda,\mu,\ q;\beta,\gamma,t)$.

Theorem 3.1. Let f be given by (1.3). Then $f \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$ if and only if

$$f(z) = \sum_{k=1}^{\infty} (X_k h_k(z) + Y_k g_k(z)), \tag{3.1}$$

where

$$h_{1}(z) = z,$$

$$h_{k}(z) = z - \frac{1 - \gamma}{(1 + \beta) \left(\frac{[k + \lambda - 1]_{q}!}{[\lambda]_{q}! [k - 1]_{q}!}\right) [k]_{q} - t(\beta + \gamma) \left(\frac{[k + \mu - 1]_{q}!}{[\mu]_{q}!}\right)} z^{k}, \qquad k = 2, 3, \dots,$$

$$g_{k}(z) = z + \frac{1 - \gamma}{(1 + \beta) \left(\frac{[k + \lambda - 1]_{q}!}{[\lambda]_{q}! [k - 1]_{q}!}\right) [k]_{q} + t(\beta + \gamma) \left(\frac{[k + \mu - 1]_{q}!}{[\mu]_{q}!}\right)} \overline{z}^{k}, \qquad k = 1, 2, 3, \dots,$$

 $\sum_{k=1}^{\infty} (X_k + Y_k) = 1, \ X_k \ge 0, Y_k \ge 0. \ \text{In particular, the extreme points of } \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t) \ \text{are } \{h_k\} \ \text{and } \{g_k\}.$

Proof. For functions f of the form (3.1), we have

$$f(z) = \sum_{k=1}^{\infty} (X_k h_k(z) + Y_k g_k(z))$$

$$= \sum_{k=1}^{\infty} (X_k + Y_k) z - \sum_{k=2}^{\infty} \frac{1 - \gamma}{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)} X_k z^k$$

$$+\sum_{k=1}^{\infty}\frac{1-\gamma}{(1+\beta)\left(\frac{[k+\lambda-1]_q!}{[\lambda]_q!\,[k-1]_q!}\right)\,\,[k]_q+t(\beta+\gamma)\left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}Y_k\overline{z}^k.$$

Then

$$\begin{split} \sum_{k=2}^{\infty} \left(\frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \, [k-1]_q!} \right) \, [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right)}{1-\gamma} \right) \\ & \times \left(\frac{1-\gamma}{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \, [k-1]_q!} \right) \, [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right)} \right) X_k \\ & + \sum_{k=1}^{\infty} \left(\frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \, [k-1]_q!} \right) \, [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right)}{1-\gamma} \right) \\ & \times \left(\frac{1-\gamma}{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \, [k-1]_q!} \right) \, [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right)} \right) Y_k \\ & = \sum_{k=2}^{\infty} X_k + \sum_{k=1}^{\infty} Y_k = 1 - X_1 \le 1 \end{split}$$

and so $f \in clco$ $\mathscr{G}_{\overline{\mathscr{H}}}(\Phi, \Psi; \beta, \gamma, t)$. Conversely, suppose that $f \in clco$ $\mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$. Setting

$$X_k = \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_k|, \ k=2, \ 3, \ \cdots,$$

and

$$Y_k = \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |b_k|, \ k=1, \ 2, \ \cdots,$$

where $\sum_{k=1}^{\infty} (X_k + Y_k) = 1$. Then note that by Theorem 2.2, $0 \le X_k \le 1$ $(k = 2, 3, \cdots)$ and $0 \le Y_k \le 1$ $(k = 1, 2, 3, \cdots)$. We define $X_1 = 1 - \sum_{k=2}^{\infty} X_k - \sum_{k=1}^{\infty} Y_k$ and by Theorem 2.2, $X_1 \ge 0$. Consequently, we obtain $f(z) = \sum_{k=1}^{\infty} (X_k h_k(z) + Y_k g_k(z))$.

Using Theorem 2.2, it is easily seen that $\mathscr{G}_{\mathscr{H}}(\lambda,\mu,\ q;\beta,\gamma,t)$ is convex and closed, so $\operatorname{clco}\mathscr{G}_{\mathscr{H}}(\lambda,\mu,\ q;\beta,\gamma,t)$ = $\mathscr{G}_{\mathscr{H}}(\lambda,\mu,\ q;\beta,\gamma,t)$. In other words, the statement of Theorem 3.1 is really for $f \in \mathscr{G}_{\mathscr{H}}(\lambda,\mu,\ q;\beta,\gamma,t)$.

The following theorem gives the distortion bounds for functions in $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ which yields a covering result for this class.

Theorem 3.2. Let $f \in \mathcal{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ and

$$A \leq (1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!} \right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) ,$$

$$A \leq (1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!} \right) [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) ,$$

for
$$k \geq 2$$
, where $A = \min \{ (1+\beta)\lambda_2[2]_q - t(\beta+\gamma)\mu_2, (1+\beta)\lambda_2[2]_q + t(\beta+\gamma)\mu_2 \}$. Then

$$|f(z)| \le (1+|b_1|)r + \left(\frac{1-\gamma}{A} - \frac{(1+\beta)\lambda_1[1]_q + t(\beta+\gamma)\mu_1}{A}|b_1|\right)r^2$$

and

$$|f(z)| \ge (1 - |b_1|)r - \left(\frac{1 - \gamma}{A} - \frac{(1 + \beta)\lambda_1[1]_q + t(\beta + \gamma)\mu_1}{A}|b_1|\right)r^2.$$

Proof. Let $f \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$. Taking the absolute value of f, we obtain

$$|f(z)| \leq (1+|b_{1}|)r + \sum_{k=2}^{\infty} (|a_{k}| + |b_{k}|)r^{k}$$

$$\leq (1+|b_{1}|)r + r^{2} \sum_{k=2}^{\infty} (|a_{k}| + |b_{k}|)$$

$$= (1+|b_{1}|)r + \frac{1-\gamma}{A}r^{2} \sum_{k=2}^{\infty} (\frac{A}{1-\gamma}|a_{k}| + \frac{A}{1-\gamma}|b_{k}|)$$

$$\leq (1+|b_{1}|)r + \frac{1-\gamma}{A}r^{2} \sum_{k=2}^{\infty} \left(\frac{(1+\beta)\left(\frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}! [k-1]_{q}!}\right)[k]_{q} - t(\beta+\gamma)\left(\frac{[k+\mu-1]_{q}!}{[\mu]_{q}!}\right)}{1-\gamma}|a_{k}|\right)$$

$$+ \frac{(1+\beta)\left(\frac{[k+\lambda-1]_{q}!}{[\lambda]_{q}! [k-1]_{q}!}\right)[k]_{q} + t(\beta+\gamma)\left(\frac{[k+\mu-1]_{q}!}{[\mu]_{q}!}\right)}{1-\gamma}|b_{k}|}{1-\gamma}$$

$$\leq (1+|b_{1}|)r + \frac{1-\gamma}{A}\left(1 - \frac{(1+\beta)\lambda_{1}[1]_{q} + t(\beta+\gamma)\mu_{1}}{1-\gamma}|b_{1}|\right)r^{2}$$

$$= (1+|b_{1}|)r + \left(\frac{1-\gamma}{A} - \frac{(1+\beta)\lambda_{1}[1]_{q} + t(\beta+\gamma)\mu_{1}}{A}|b_{1}|\right)r^{2}$$

and similarly,

$$|f(z)| \ge (1 - |b_1|)r - \left(\frac{1 - \gamma}{A} - \frac{(1 + \beta)\lambda_1[1]_q + t(\beta + \gamma)\mu_1}{A}|b_1|\right)r^2$$

The upper and lower bounds given in Theorem 3.2 are respectively attained for the following functions.

$$f(z) = z + |b_1|\bar{z} + \left(\frac{1-\gamma}{A} - \frac{(1+\beta)\lambda_1[1]_q + t(\beta+\gamma)\mu_1}{A}|b_1|\right)\bar{z}^2$$

and

$$f(z) = (1 - |b_1|)z - \left(\frac{1 - \gamma}{A} - \frac{(1 + \beta)\lambda_1[1]_q + t(\beta + \gamma)\mu_1}{A}|b_1|\right)z^2.$$

The following covering result follows from the left hand inequality in Theorem 3.2.

Corollary 3.1. Let f of the form (1.3) be so that $f \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ and

$$A \le (1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!} \right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right)$$

and

$$A \le (1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!} \right) \ [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!} \right) \ , \quad for \ k \ge 2,$$

where
$$A = \min \left\{ (1+\beta)\lambda_2[2]_q - t(\beta+\gamma)\mu_2, \ (1+\beta)\lambda_2[2]_q + t(\beta+\gamma)\mu_2 \right\}$$
. Then
$$\left\{ \omega: |\omega| < \frac{A+1-\gamma}{A} + \frac{A-1+\gamma}{A}|b_1| \right\} \subset f(\mathbb{U}).$$

4. Convolution and Convex Combinations

In this section we show that the class $\mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$ is closed under convolution and convex combinations. Now we need the following definition of convolution of two harmonic functions. For $f(z) = z - \sum\limits_{k=2}^{\infty} |a_k| z^k + \sum\limits_{k=1}^{\infty} |b_k| \overline{z}^k$ and $F(z) = z - \sum\limits_{k=2}^{\infty} |A_k| z^k + \sum\limits_{k=1}^{\infty} |B_k| \overline{z}^k$, we define the convolution of two harmonic functions f and F as

$$(f * F)(z) = f(z) * F(z) = z - \sum_{k=2}^{\infty} |a_k| |A_k| z^k + \sum_{k=1}^{\infty} |b_k| |B_k| \overline{z}^k.$$

$$(4.1)$$

Using the definition, we show that the class $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ is closed under convolution.

Theorem 4.1. For $0 \le \gamma < 1$, let $f \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$ and $F \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$. Then $f * F \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$.

Proof. Let $f(z) = z - \sum_{k=2}^{\infty} |a_k| z^k + \sum_{k=1}^{\infty} |b_k| \overline{z}^k$ and $F(z) = z - \sum_{k=2}^{\infty} |A_k| z^k + \sum_{k=1}^{\infty} |B_k| \overline{z}^k$ be in $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$. Then the convolution f * F is given by (4.1). We wish to show that the coefficient of f * F satisfy the required condition given in Theorem 2.2. For $F \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$, we note that $|A_k| \leq 1$ and $|B_k| \leq 1$. Now for the convolution function f * F, we obtain

$$\sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_k| |A_k|$$

$$+ \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |b_k| |B_k|$$

$$\leq \sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_k|$$

$$+ \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |b_k|$$

$$< 1,$$

since $f \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$. Therefore $f * F \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$.

Next, we show that the class $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ is closed under convex combination of its members.

Theorem 4.2. The class $\mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$ is closed under convex combination.

Proof. For $i = 1, 2, 3, \cdots$ let $f_i(z) \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$, where f_i is given by

$$f_i(z) = z - \sum_{k=2}^{\infty} |a_{ik}| z^k + \sum_{k=1}^{\infty} |b_{ik}| \overline{z}^k.$$

For $\sum_{i=1}^{\infty} t_i = 1, 0 \le t_i \le 1$, the convex combination of f_i may be written as

$$\sum_{i=1}^{\infty} t_i f_i(z) = z - \sum_{k=2}^{\infty} \left(\sum_{i=1}^{\infty} t_i |a_{ik}| \right) z^k + \sum_{k=1}^{\infty} \left(\sum_{i=1}^{\infty} t_i |b_{ik}| \right) \overline{z}^k.$$

Since,

$$\sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_{ik}| + \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |b_{ik}| \le 1,$$

from the above equation we obtain

$$\sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} \sum_{i=1}^{\infty} t_i |a_{ik}| \\ + \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} \sum_{i=1}^{\infty} t_i |b_{ik}| \\ = \sum_{i=1}^{\infty} t_i \left\{ \sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_{ik}| \\ + \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! [k-1]_q!}\right) [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{k(1-\gamma)} |b_{ik}| \right\} \\ \leq \sum_{i=1}^{\infty} t_i = 1.$$

This is the condition required by (2.4) and so $\sum_{i=1}^{\infty} t_i f_i(z) \in \mathscr{G}_{\overline{\mathscr{H}}}(\lambda, \mu, q; \beta, \gamma, t)$.

5. CLASS PRESERVING INTEGRAL OPERATORS

Finally, we consider the closure property of the class $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ under the generalized Bernardi-Libera -Livingston integral operator $\mathcal{L}_c[f(z)]$ and the q-Jackson integral operator F_q .

(1) The generalized Bernardi-Libera -Livingston integral operator $\mathcal{L}_c[f(z)]$ for $f(z) = h(z) + \overline{g(z)}$ given by (1.1) is

$$\mathcal{L}_{c}[f(z)] = \frac{c+1}{z^{c}} \int_{0}^{z} \xi^{c-1} f(\xi) d\xi, \qquad c > -1.$$

(2) For $f(z) = h(z) + \overline{g(z)}$ given by (1.1), the q-Jackson integral operator F_q is defined by the relation

$$F_q(z) = \frac{[c]_q}{z^{c+1}} \int_0^z u^c h(u) d_q u + \frac{\overline{[c]_q}}{z^{c+1}} \int_0^z u^c g(u) d_q u, \tag{5.1}$$

where $[c]_q$ is the q-number defined by (1.6).

Theorem 5.1. Let $f \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$, then $\mathcal{L}_c[f(z)] \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$.

Proof. From the representation of $\mathcal{L}_c[f(z)]$, it follows that

$$\mathcal{L}_{c}[f(z)] = \frac{c+1}{z^{c}} \int_{0}^{z} \xi^{c-1} h(\xi) d\xi + \frac{c+1}{z^{c}} \int_{0}^{z} \xi^{c-1} g(\xi) d\xi$$

$$= \frac{c+1}{z^c} \int_0^z \xi^{c-1} \left(\xi - \sum_{k=2}^\infty |a_k| \xi^k \right) d\xi + \frac{c+1}{z^c} \int_0^z \xi^{c-1} \left(\sum_{k=1}^\infty |b_k| \xi^k \right) d\xi$$
$$= z - \sum_{k=2}^\infty A_k z^k + \sum_{k=1}^\infty B_k z^k,$$

where $A_k = \frac{c+1}{c+k} |a_k|$ and $B_k = \frac{c+1}{c+k} |b_k|$. Hence

$$\begin{split} \sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \left[k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} \left(\frac{c+1}{c+k} |a_k|\right) \\ + \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \left[k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} \left(\frac{c+1}{c+k} |b_k|\right) \\ \leq \sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \left[k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_k| \\ + \sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \left[k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |b_k| \\ \leq 1, \end{split}$$

since $f \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$, therefore by Theorem 2.2, $\mathcal{L}_c(f(z)) \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$.

In the next theorem, we show that the class $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ is closed under the q-integral operator defined by (5.1).

Theorem 5.2. Let $f(z) = h(z) + \overline{g(z)}$ be given by (1.3) and $f \in \mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$ where $\lambda, \mu \in \mathbb{N}_0$, $\beta \geq 0$, $0 \leq \gamma < 1$, $0 \leq t \leq 1$ and 0 < q < 1. Then F_q defined by (5.1) is also in the class $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$.

Proof. Let

$$f(z) = z - \sum_{k=2}^{\infty} |a_k| z^k + \sum_{k=1}^{\infty} |b_k| \bar{z}^k$$

be in $\mathscr{G}_{\mathscr{H}}(\lambda, \mu, q; \beta, \gamma, t)$. Then by Theorem 2.2, the condition (2.4) is satisfied. From the series representation (5.1) of F_q , it follows that,

$$F_q(z) = z - \sum_{k=2}^{\infty} \frac{[c]_q}{[k+c+1]_q} |a_k| z^k + \sum_{k=1}^{\infty} \frac{[c]_q}{[k+c+1]_q} |b_k| \bar{z}^k.$$

Since

$$[k+c+1]_q - [c]_q = \sum_{i=0}^{k+c+1} q^i - \sum_{i=0}^c q^i = \sum_{i=c}^{k+c+1} q^i > 0$$
$$[k+c+1]_q > [c]_q \quad \text{(or)} \quad \frac{[c]_q}{[k+c+1]_q} < 1.$$

Now,

$$\sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} \frac{[c]_q}{[k+c+1]_q} |a_k|$$

$$\begin{split} &+\sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} \frac{[c]_q}{[k+c+1]_q!} |b_k| \\ &\leq \sum_{k=2}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q - t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |a_k| \\ &+\sum_{k=1}^{\infty} \frac{(1+\beta) \left(\frac{[k+\lambda-1]_q!}{[\lambda]_q! \ [k-1]_q!}\right) \ [k]_q + t(\beta+\gamma) \left(\frac{[k+\mu-1]_q!}{[\mu]_q!}\right)}{1-\gamma} |b_k| \\ &\leq 1. \end{split}$$

Thus the proof of Theorem 5.2 is established. ■

References

- Om. P. Ahuja, Planar harmonic univalent and related mappings, JIPAM. J. Inequal. Pure Appl. Math. 6 (2005), no. 4, Article 122, 18 pp.
- [2] Om. P. Ahuja, Recent advances in the theory of harmonic univalent mappings in the plane, Math. Student 83 (2014), no. 1-4, 125-154.
- [3] O. P. Ahuja, R. Aghalary and S. B. Joshi, Harmonic univalent functions associated with K-uniformly starlike functions, Math. Sci. Res. J. 9 (2005), no. 1, 9–17.
- [4] Om. P. Ahuja, A. Çetinkaya and V. Ravichandran, Harmonic univalent functions defined by post quantum calculus operators, Acta Univ. Sapientiae Math. 11 (2019), no. 1, 5–17.
- [5] H. Aldweby and M. Darus, Some subordination results on q-analogue of Ruscheweyh differential operator, Abstract and Applied Analysis, 2014(2014), Article ID 958563, 6 pages.
- [6] H.A. Al-Kharsani and R.A. Al-Khal, Univalent harmonic functions, J. Ineq. Pure Appl. Math., 8(2):1-8, 2007.
- [7] Y. Avei and E. Złotkiewicz, On harmonic univalent mappings, Ann. Univ. Mariae Curie-Skłodowska Sect. A 44 (1990), 1–7.
- [8] J. Clunie and T. Sheil-Small, Harmonic univalent functions, Ann. Acad. Sci. Fenn. Ser. A I Math. 9 (1984), 3–25.
- [9] K. K. Dixit, A. L. Pathak, S. Porwal and R. Agarwal, On a subclass of harmonic univalent functions defined by convolution and integral convolution, Int. J. Pure Appl. Math. 69 (2011), no. 3, 255–264.
- [10] K.K. Dixit, A.L. Pathak, S. Porwal and S.B.Joshi, A family of harmonic univalent functions associated with a convolution operator, Mathematica 53(76) (2011), no. 1, 35–44.
- [11] K. K. Dixit and S. Porwal, Some properties of harmonic functions defined by convolution, Kyungpook Math. J. 49 (2009), no. 4, 751–761.
- [12] S. Elhaddad, H. Aldweby and M. Darus, Some properties on a class of harmonic univalent functions defined by q-analogue of Ruscheweyh operator, J. Math. Anal. 9 (2018), no. 4, 28–35.
- [13] B. A. Frasin, Comprehensive family of harmonic univalent functions, SUT J. Math. 42 (2006), no. 1, 145–155.
- [14] B. A. Frasin and N. Magesh, Certain subclasses of uniformly harmonic β-starlike functions of complex order, Stud. Univ. Babeş-Bolyai Math. 58 (2013), no. 2, 147–158.
- [15] F. H. Jackson, q-Difference Equations, Amer. J. Math. 32 (1910), no. 4, 305–314.
- [16] Y. C. Kim, J. M. Jahangiri and J. H. Choi, Certain convex harmonic functions, Int. J. Math. Math. Sci. 29 (2002), no. 8, 459–465.
- [17] J. M. Jahangiri, Coefficient bounds and univalence criteria for harmonic functions with negative coefficients, Ann. Univ. Mariae Curie-Skłodowska Sect. A 52 (1998), no. 2, 57–66.
- [18] J. M. Jahangiri, Harmonic functions starlike in the unit disk, J. Math. Anal. Appl. 235 (1999), no. 2, 470–477.
- [19] J. M. Jahangiri, Harmonic univalent functions defined by q- calculus operators, Intern. J. Math. Anal. Appl., 5 (2018), no. 2, 39–43
- [20] J. M. Jahangiri, N. Magesh and C. Murugesan, Certain subclasses of starlike harmonic functions defined by subordination, J. Fract. Calc. Appl. 8 (2017), no. 2, 88–100.
- [21] N. Magesh and S. Porwal, Harmonic uniformly β-starlike functions defined by convolution and integral convolution, Acta Univ. Apulensis Math. Inform. No. 32 (2012), 127–139.
- [22] N. Magesh, S. Porwal and V. Prameela, Harmonic uniformly β-starlike functions of complex order defined by convolution and integral convolution, Stud. Univ. Babes-Bolyai Math. 59 (2014), no. 2, 177–190.
- [23] G. Murugusundaramoorthy, On a class of Ruschewey-type harmonic univalent functions with varying arguments, Southwest J. Pure Appl. Math., 2:90-95, 2003.
- [24] S. Porwal, K. K. Dixit, V. Kumar, A.L. Pathak and P. Dixit, A New Subclass of Harmonic Univalent Functions defined by Dziok-Srivastava Operator, Advances in Theoretical and Applied Mathematics, Volume 5, Number 1 (2010), pp. 109–119.

- [25] T. Rosy, S. B. Adolph, K. G. Subramanian and J. M. Jahangiri, Goodman-Rønning-type harmonic univalent functions, Kyungpook Math. J. 41 (2001), no. 1, 45–54.
- [26] S. Ruscheweyh, New criteria for univalent functions, Proceedings of the American Mathematical Society, 49(1975), 109-115.
- [27] H. Silverman, Harmonic univalent functions with negative coefficients, J. Math. Anal. Appl. 220 (1998), no. 1, 283–289.
- [28] H. Silverman and E. M. Silvia, Subclasses of harmonic univalent functions, New Zealand J. Math. 28 (1999), no. 2, 275–284.
- [29] S. Yalçin, M. Öztürk and M. Yamankaradeniz, A subclass of harmonic univalent functions with negative coefficients, Appl. Math. Comp. 142 (2003), 469 –476.
- 1, *Department of Computer Science and Engineering

R. V. College of Engineering

Bangalore-560 059 Karnataka, India.

E-MAIL: MAILTOSWAMY@REDIFFMAIL.COM.

ORCID ADDRESS: HTTP://ORCID.ORG/0000-0002-8088-4103.

² Department of Mathematics

R. V. College of Engineering

Bangalore-560 059 Karnataka, India.

E-MAIL: MAMATHARAVIV@GMAIL.COM.

ORCID ADDRESS : http://orcid.org/0000-0002-7610-9585.